Equation of a Circle

An equation of a circle with center If... by
(h, k) and radius ris

(x=h)2+(y-k?=r

L

PROOF: SEE EXERCISE 13.

Then... (x — h)? + (y — k)? = r?



Use variables that can apply to any circle on the coordinate
plane. Draw a circle with point (h. k) as the center of the circle.
Then select any point (x. y) on the circle.

Use the Distance Formula to find the distance r between the two
points.

(x=h +(y— b =r?
Because the radius is the same from the center to any point
(x. y)on the circle, this equation satisfies all points of the circle.
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What is the equation for © A?
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2. a. What is the equation for the circle?
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2. b. What is the equation for the circle?
= J(3a) H AT

:\ﬁf‘i— A
o [Tva =Vio
(hyl0) = (=571
= \'}D

( X+ ’5)1 d C\/ H)L-— (E;Sq

(xr>) Flyr) =10




Circle Q has radius 7 and is centered at the origin. Does the point
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3. Determine whether each point lies on the given circle.
(o)
a.(=3. y/11): circle with center’a'the origin and radius 2y/5
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Gy el s ™
What is the graph of (x — 3)2 + (y + 4) = 92

Cobes {37

radtes = B

Hiijjf__



4. What is the graph of the
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4. What is the graph of the Cerber (-2)
circle?
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5. What are the center and radius of the circle with equation
(x—4°+(y -9 =1
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6. What is the equation for the circle with center (6. 2) and radius 8?
h e »

(- Hly-2) = &

(xu) *+(y-2)= (Y



8. What is the equation for the circle with center (—9. 5) and radius 4?
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